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ENGLISH LANGUAGE

Directions (76-78) In the
following questions, some part of the
sentences have errors and some are
correct. Find out which part of a
sentence has an error. The number of
that part is the answer. If there a
sentence is free from error, then your
answer is (D) i.e., No error.

76. You are a very lovable person (A) /
but I (B) / am not loving you. (C) /
No error. (d)

77. 1 bought (A) / two (B)./ slippers. (C)
/ No error. (D)

78. The director along with his as
sistants (A) / have thoroughly
examined (B) / the new proposals.
(C) / No error. (D)

Directions (79-82) : In the
following questions, sentences are given
with blanks to be filled in with an
appropriate word(s). Four alternatives

are suggested for each question. Choose
the correct alternative out of the four.
79. Since Amit was an......photo-
grapher, he did not charge any
money for taking our picture
(A) amateur (B) professicual
(C) useless (D) unknown.
80. We have been living in this house
ceenns 1965,
(A) when (B) for
(C) before (D) since. .
81. Rather than......others why don’t
you look for your own mistakes 7

(A) helping (B) pointing

(C) blaming (D) watching.
82. Arun has..... .his work.

(a) completely  (B) completing

(C) complete (D) completed.

Directions (83-85) In the
following questions, out of rhe four
alternatives, choose the one which best
expresses’ the meaning of the given
word.

83. Catastrophe

(A) Clumsy (B) Disease
(C) Rustic (D) Calamity.
84. Happiness
{(A) grief (B) sorrow
(C) misery (D) bliss.
85. Greet
(A) welcome (B) hostile
.(C) unsociable (D) aloof.

Directions (86-88) : In the
following three questions, choose the
word opposite in meaning to the given
word.

86. Bane

(A) curse (B) boon

(C) base (D) violent,
87. Liberal

(A) Irrelevant  (B) Free

(C) Sensitive (D) Intolerant.
88. Flood

(A) Drought (B) Dry

(C) Cyclone (D) Desert.

Directions (89-91) : In the
following questions, four alternatives are
given for the Idiom/Phrase printed in
bold. Choose the alternative which best
expresses the meaning of the Idiom/

Phrase.
89. Whenveer I feel blue | like 1o listen

to slow music.

(A) happy (B) gleeful

(C) troubled (D) gloomy.

The Manager was above board in
all his dealings with his employees.
(A) dishonest  (B) rude

{C) honest (D) charitable.

91. It poured cats & dogs

(A) rained heavily

(Z,. .dlightly

(C) dazzled

(D) hail storm. :

Directions (92-94) : In the follow-
ing questions, a part of the sentnetfe is
printd in bold. Below are given
alternatives to the bold part at (A), (B)
and (C) which may improve the
sentence. Choose the correct alternative.
In case no improvement is needed, your

%

answer is (D).
92. You have played instead of worked

(A) working

(B) having worked

(C) being worked

(D) No improvement.

93, Neither Ted nor Johan are going.

(A) have been going

(B) were going

(D) is going.

(D) No improvement.

94. He had hardly gone when his

friend came. i

(A) Hardly he had gone

(B) he had gone hardly

(C) Hardly had he gone

(D) No improvement.

Directions (95-97) : In the
following questions, out of the four
alternatives, choose the one which can
be substituted for the given. words/
senternce. -
95. Send or bring somebody back to

his own country.

(A) asylum (B) refuge

(C) repatriate (D) emigrate.

96. Animals that live in a particular

region
(A) fauna (B) wildlife
(C) native: (D) beast.

97. A form of government in which




the supreme power rests with
people is

words are given. In gach group. one
word is correctly spelt. Find the

(B) commemorate
(C) comemorate

(A)Monarchy  (B) Ligarchy correctly spelt word. (D) comémorrate.
(D) Democracy (D) Bureaucracy.  98. (A) Indigenious (B) Indigenous 100.(A) omission  (B) ocassion
Directions (98-100) : In the (C) Indiginous (D) Indeginous. (C) commision (D) posesion.
following questions. groups of four 99. (A) comemmorate u
V : : -
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17.
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ENGLISH LANGUAGE

(C) @&] Present simple arft do not
love you 1 WAMEIM | Progressive
tenses ® love 1 wdIm gl 3faa =T |
(B) T&l two % TR | a pair of T
el

(B) @& along with % qd 37 Subject
(The director) & 3F@R Singular
verb ¥l has thoroughly examined
Eak viuksoll :

(A) Amateur = 37581, 3waT0 (done
for enjoyment, not as a job).

(D) Point of time & T since &1
WM g R |

(C) Blame = 219 1 (to think or say
that somebody/something is respon-
sible for something bad).

(D) 9194 Present Perfect ® %1 om:
V; 9t completed & W EM
TR Tl T T —

Subject + has/have + V,

(Past Participle)

(D) W= Catastrophe (Noun) 1 1%
¥ —meifaafs amaw, faxw (calamity,
disaster; a sudden event that causes
many people to suffer).

e o wan Il —

Early wamings of rising water
levels prevented another major
catastrophe.

84.

85.

.

86.

87.

88.

89.

90.

91.

92,

93.

9.

98.
99.

100. (A) = spelling #¥—Occasion,

(D) W@ Happliness (Noun) yrof
¥ qeht, qA, AR (bliss, pleasure).
aer s S —

Swimming on a hot diy is sheer
happiness.

(A) W= Greet (Verb) &1 4 #—
A 1 (welcome; to say hello to
somebody).

e o T Fel —

He greeted all the guests warmly as
they arrived.

(B) ¥ Bane (Noun) %1 74 & —
something that causes trouble and
makes people unhappy; curse (fou,
w9 famma)

Boon = somecthing that is very
helpful and makes life easier for
you (FEH) |

(D) 7% Liberal (Adjective) & a4
2 =, 3eR (lavish: generous;
willing to understand and respect,
other peoplle’s behaviour; opinions
etc.)

Intolerant = a not willing to accept
ideas or ways of behaving that are
different from your own ( 3raf&o]) |
(A) 7= Food (Noun) %1 :i4 t—am
(a large amount of water covering
an area).

Drought = 37&Td, @1 (a long period
of time when there is little or no
rain). :

(D) Feel blue = to sad; gloomy;
depressed.

(C) Above board = legal and honest;
in a legal and honest way (¥4,
AR

(A) Be raining cats and dogs = to be
raining heavily (4R F91)

(A) 78l Gerund At working &t ¥am
B

(C) Nearest subject {Johan) singular
%1 31: Singular verb =1 ¥am g
(C) WS sT= gfi—Hardly had he
gone, when his friend came.

(B) 1% spelling ¥ —Indigenous

(B) Y% spelling ¥ —Commemorate

commission, possession.




